
8998 8998.5 8999 8999.5 9000
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

16

16.5

17

17.5

18

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

0.5

1

1.5

2

2.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

7406

7406.5

7407

7407.5

7408

7408.5

7409

7409.5

7410

ru
n

run:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7408}



8998 8998.5 8999 8999.5 9000
cyclenum

76.4−

76.2−

76−

75.8−

75.6−

75.4−

75.2−

75−

74.8−

74.6−

74.4−

74.2−

us
l_

1X
usl_1X:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

4.5

5

5.5

6

6.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

20

20.5

21

21.5

22

us
l_

4e
X

usl_4eX:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

34.4−

34.2−

34−

33.8−

33.6−

33.4−

33.2−

33−

32.8−

32.6−

32.4−

32.2−

us
l_

12
X

usl_12X:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

7406

7406.5

7407

7407.5

7408

7408.5

7409

7409.5

7410

ru
n

run:cyclenum {run == 7408}



8998 8998.5 8999 8999.5 9000
cyclenum

135.5−

135−

134.5−

134−

133.5−us
r_

1X

usr_1X:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

196

196.5

197

197.5

198

us
r_

4e
X

usr_4eX:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

10

10.5

11

11.5

12

us
r_

4e
Y

usr_4eY:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

38−

37.5−

37−

36.5−

36−us
r_

12
X

usr_12X:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

7406

7406.5

7407

7407.5

7408

7408.5

7409

7409.5

7410

ru
n

run:cyclenum {run == 7408}



8998 8998.5 8999 8999.5 9000
cyclenum

30415.5

30416

30416.5

30417

30417.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

6244.5

6245

6245.5

6246

6246.5

us
l_

co
il3

usl_coil3:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

3696.2

3696.4

3696.6

3696.8

3697

3697.2

3697.4

3697.6

3697.8

3698

3698.2

3698.4

us
l_

co
il4

usl_coil4:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

138.5−

138−

137.5−

137−

136.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

12516

12516.5

12517

12517.5

12518

us
l_

co
il7

usl_coil7:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

7406

7406.5

7407

7407.5

7408

7408.5

7409

7409.5

7410

ru
n

run:cyclenum {run == 7408}



8998 8998.5 8999 8999.5 9000
cyclenum

25537.5−

25537−

25536.5−

25536−

25535.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

5275.5−

5275−

5274.5−

5274−

5273.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

3497

3497.5

3498

3498.5

3499

us
r_

co
il4

usr_coil4:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

630.5−

630−

629.5−

629−

628.5−us
r_

co
il6

usr_coil6:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

17313.6

17313.8

17314

17314.2

17314.4

17314.6

17314.8

17315

17315.2

17315.4

17315.6

17315.8

us
r_

co
il7

usr_coil7:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

7406

7406.5

7407

7407.5

7408

7408.5

7409

7409.5

7410

ru
n

run:cyclenum {run == 7408}



8998 8998.5 8999 8999.5 9000
cyclenum

422.5−

422−

421.5−

421−

420.5−1X
_c

oi
l1

1X_coil1:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

71.5−

71−

70.5−

70−

69.5−1X
_c

oi
l3

1X_coil3:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

26.6

26.8

27

27.2

27.4

27.6

27.8

28

28.2

28.4

28.6

28.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

465.8−

465.6−

465.4−

465.2−

465−

464.8−

464.6−

464.4−

464.2−

464−

463.8−

463.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

92−

91.5−

91−

90.5−

90−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

26.6

26.8

27

27.2

27.4

27.6

27.8

28

28.2

28.4

28.6

28.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7408}



8998 8998.5 8999 8999.5 9000
cyclenum

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

59

59.5

60

60.5

61

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

10−

9.5−

9−

8.5−

8−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

188

188.2

188.4

188.6

188.8

189

189.2

189.4

189.6

189.8

190

190.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

5−

4.5−

4−

3.5−

3−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

8.5−

8−

7.5−

7−

6.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7408}



8998 8998.5 8999 8999.5 9000
cyclenum

246.5−

246−

245.5−

245−

244.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

83.5−

83−

82.5−

82−

81.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

5.5

6

6.5

7

7.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

427.5−

427−

426.5−

426−

425.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7408}

8998 8998.5 8999 8999.5 9000
cyclenum

7406

7406.5

7407

7407.5

7408

7408.5

7409

7409.5

7410

ru
n

run:cyclenum {run == 7408}
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